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0.1 OUogdoobbooodn

X, YyooooOOOe bOOOODOOO

E(a) = a, and var (a) = 0, and Cov(a) =0
E(aX+b) = a&(X)+b, and var (a X +b) = a® var (X)
Cv(aX+becY+d = acCw(X,Y), and Cov (X, X) = var(X)

0.2 ODOOOoOobDOO

X, Yyooooooooo

EX) = pux and war(X) = o%
EY) = py and  wvar(Y) = of
Cov(X,Y) = oxy
oono
Z=X=xY
gg
E(Z) = E(X1Y) = E(X)£E(Y) = px +py
var (Z) = war(X +Y) = var (X) +war (Y)+2Cov (X,Y) = 0% +0% +20xy

O000X0OYOoooooOOoxy=0000O

E(Z) = EX£Y) = EX)£EY) = px+py

var (Z) = o% +o%

0.3 OOogoooo
a,b0000000Z=eX+00000

E2Z) = E(aX+Db) = E@X)+ED) = a&(X)+E(b) = apx +b
var (Z) = war(aX +b) = var (aX) + var (b) + 2 Cov (aX,b)
= a*var (X)+0+0 = a’o%

gooooo
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ggoogon
E(Z)=0, and  war(Z2)=1 (17)
00000000000 XOooooooooooobooo oooooo
Z=X-E(X) (18)

b0 XoO0oooboooo

0.4 OUOOgOoOoOOOOO

a,b,c0000000Z=aX+bY +c0000

E(Z) = apx+buy +c (19)
var (Z) = a*var (X) +b*var (Y)+2abCov (X,Y) (20)
= a*var (X) +b*var (Y), if independent. (21)

0.5 Ooogn

gbooobooooobo xXoyoooooooooooooobooboobooobooozoOooo
gboooobooboooooboooooon
O000a,b,c00D0000ODO

X~ N(NX7J§()7 and Y ~ N(NY7 O—%’) (22)

oobo0Z=aX+bY+cOO0OO

Z ~ N(apx +buy +c, a*o% +b* o3 + 2abox.y) (23)
~ N(apx +buy +¢, a*o% +b*0%), if independent. (24)
gooad
goboboboboboobouooboobooboboboboboobooobooboobo
X ~ N(ux,0%) (25)
gooad
z-X—kx (26)
ox
g
Z~ N(0,1) (27)
gobooboboboobooon
PriX<z) = Pr(X—pux< x—,uX):Pr(X;%g 3'?%)zPr(ZS %) (28)
- @(x_ux) (29)
0x
goboobobobobooobuoobooboobooboboboooooboo
Pr(Z>2z) = 1-Pr(Z<z)=1-(z) (30)
B(~z) = 1-®(x) DOODOOOODO (31)

ggoo



